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GUESS PAPER - 2010
Class - XII
SUBJECT - Accountancy
General instructions:

(i) This question paper contains three parts A,B and C.

(ii) Part A is compulsory for all

(iii) Candidates can attempt only one of remaining parts B and C

(iv) All parts of the questions should be attempted at one place
PART- A

(Not for profit organisations, partnership and company Accounts)
1. State any two features of Receipt and Payment A/c



1
2. State where following items shall appear in case the capital are fixed
1
(a) withdrawal of capital



(b) Fresh capital introduced

3 
State any two circumstances when calculation of sacrificing ratio is  
1
     needed

4.
What is realisation A/c ?







1
5.
What do you mean by minimum subscription ?



1
6.
Stock of stationery on 1st   Jan 2005 was Rs 5,000. Purchases of stationery in cash during the year Rs 11,000. creditors for stationery on 1st Jan,2005 were Rs 3,000.creditors for stationery on 31st dec. 2005  was Rs 2,500 and stock on 31st Dec,2005 was Rs. 1000.calculate the amount debited to income and expenditure 

7 
Pass journal entries for issue of debentures in the following cases
3

(i)
1000, 12% debentures issued at 2% premium, redeemable at 5%        




premium

(ii) 1,000, 12% debentures issued at 5% premium , redeemable at par

8 P Ltd forfeited 600 shares of Rs 10 each Rs7 called up for non payments of first call Rs 2 per share . Out of these 250 shares were reissued at Rs 6 per share











9 W Ltd is registered with an authorized capital of Rs 10,00,000 divided in to 1,00,000 equity shares of Rs 10 each. The company offered 80,000 shares for subscription to the public, out of which 75,000 shares were subscribed for Rs 6 per share were called and received except a call of Rs 2 per share on 1,000 shares. Show the share capital of the company in its balance sheet as per provisions of schedule VI part I of the Companies Act 1956

4
10 X, Y and Z have been sharing in the ratio of 2:2:1. Z wants to share profits equally with X and Z and he further wants that the change in the profits should come into effect retrospectively for last three years and Z agrees to this. The profit for last three years were Rs 52,000,Rs 44200 and Rs 51,610 .Show the adjustment of profit for last three years and Journalise
4         
11 Charu and Dinesh have bee sharing profits in the ratio of 5:3. They admit Poonam in to partnership for 2/10 share .Poonam was to bring his share of goodwill in cash. For this purpose firms goodwill was to valued on super profit method. The average profit of the firm is Rs 24,000.Capital employed Rs 1,50,000.Average rate of return is 10%. Pass necessary Journal entry
12
R, S and T were partners sharing profits and losses in the ratio of 5:3:2. on    31st December 2004, their balance stood as under



       6
	liabilities
	Rs
	assets
	Rs

	Sundry creditors

Employees P.F

Contingency reserve

Employees compensation reserve

Capital 

R

S

T


	50,000

5,000

20,000

10,000

1,50,000

1,25,000

75,000
	Goodwill

Leasehold

Patents

Machinery

Stock

Debtors

Bank


	25,000

1,00,000

30,000

1,50,000

50,000

40,000

40,000

	
	4,35,000
	
	4,35,000


T died on  1st may 2005. It was agreed that

(a) Goodwill to be valued at 21/2 years purchase of last four years average profits  which were: 2001 Rs65,000, 2002 Rs 60,000, 2003 Rs 80,000 and 2004 Rs 75000.

(b)Machinery be valued at Rs 1,40,000; patents be valued at Rs 40000; lease hold be valued at Rs 1,25,000 on 1st may 2005

© For the purpose of calculating T’s share in the profits to 2005 , the profits in 2005 should taken to have accrued on the same scale as  in 2004
(d) A sum of Rs 21.000 to be paid immediately to the executor of T and balance to transferred paid in four equal yearly installments together with interest @ 10% p.a.Prepare T’s A/c and his executors A/c

13 From the following Receipts and payments A/c of a club for the year ended   

     31st December 2009. Prepare income and expenditure a/c For the year ended   

     31st December, 
	Receipts
	Rs
	Payments
	Rs

	To ba lance b/d

To subscriptions

      2008

      2009

      2010

To entrance fees

To sale of old furniture

To sale of old news paper
	1,500
100

2,000

200

1,000

60

40
	 By salaries
By electric expenses
By investments

By stationery

By News paper

By furniture

By Misc. Exps

By Balance c/d
	1,500
1,100

1,000

200

300

300

200

300

	
	4,900
	
	4900




The club has 250 members, each paying an annual subscription of Rs10,  Rs 50 still in arrears of subscriptions 2008. In 2008 ten members had paid their subscription for 2009 as well. Salaries paid includes Rs 100 for 2008 and Rs 150 for the year 2010.Outstanding salaries for 2009 amounted to Rs 200


Interest for three months at 6% accrued on investment. 50% of entrance fees to be capitalized
14       Pass necessary journal entries in the following cases
                          6
(a) 1000,Debentures of Rs 10 each redeemed at a premium of 10% by conversion in to    equity shares of Rs 100 each at par

(b) Purchased 5,000 of its own debentures of Rs 1,000 each at Rs 987 per debenture

(c) Redeemed Rs 25,00,000 , 9% debentures at a premium of 5% out of profit 

15
The following is the balance sheet of Deepak and prakash who share profits in the ratio of 3:1on 31st dec 2008









	Liabilities
	Rs
	Assets
	Rs

	Bills payable

Bank overdraft

Sundry creditors

Deepak

Prakash

General reserve
	6,000

6,500

24,000

20,000

20000

5,000
	Cash

Stack

Furniture

Sundry debtors

Plant

Land


	20,000

8,000

8,000

16,000

20,000

9,500



	total
	81500
	
	81,500



Atul was taken as partner on 1st January  2009 on following terms
(i) Atul will pay Rs 15,000 as his capital for 1/5 share in the future profits and Rs 5,000 as his share of goodwill

(ii) Furniture depreciated by 10%

(iii) Stock appreciated by 10% and plant by 20%

(iv) 5% provision for bad and doubt debts on sundry creditiors

(v) The capital of all partner be adjusted in new profit sharing ratio. Any excess or deficiency be transferred to their current A/c

 Prepare Revaluation A/c, Partner’s capital A/c and balance sheet





OR 

The following was the balance sheet of A and B as on 31 Mar 2006

(8)


	Liabilities
	Rs
	Assets
	Rs

	Creditors

Mrs A loan

B’s loan

Reserve

Capital

A

B


	38000

10000

15000

5000

10000

  5000


	Bank

Stock

Debtors

Furniture

Plant

Investments

Profit and loss A/c


	11500

  6000

19000

  4000

28000

10000

  7500


The Firm dissolved on 31 march 2009 on following terms

i) A agreed to take investment at Rs 8,000 and decided pay off Mrs. A loan

ii) Other assets realized as- stock Rs 5000, debtors Rs18500, Furniture’s 4500 plant Rs 25000

iii) Expenses on realisation Rs 1600

iv) Creditors were paid Rs 37000 only

Prepare realisation A/c partner capital a/c and bank 
16  .Reliance Ltd issued for public subscription 40,000 shares of Rs10 each at a  

       premium of Rs 2 per share payable as :
On application Rs2 per share. On allotment Rs 5 per share (inclu Premium). On first  call Rs2 per share. On second and final call Rs 3 per share
Applications were received for Rs 60,000. Allotment was made prorata to applicants for 48000 shares, the remaining applicants beings refused. Money overpaid on applications was applied towards allotment

A to whom 1,600 shares were allotted failed to pay allotment money and B to whom 2,000 shares were allotted failed to pay two calls.these were subsequently forfeited after second call. Of these 3,000 shareswere  reissued to C credited as fuly paid at Rs 7 per shate, the whole share of  B was included

Pass necessary journal entries


OR

M Ltd issued 30,000 equity shares of Rs 10 each at dis count of Re 1 per share payable as


Application Rs 3 per share; allotment Rs2 per share; final call
Rs 4 per share


Applications for 40,000 shares were received. Allotment was made as 


I
Applicants of 5,000 shares full


II
Applicants of 15,000shares were allotted 10,000 shares on prorate basis


III
Applicants of 20,000 shares were allotted 15,000 shares on prorate basis



All the share holder paid the amount due on allotment and call except X ( who was aloted 1000 shares under list II ) and Y( allotted 1,500 shares under list III ). Their shares were forfeited and reissued at Rs 8 per share      
      PART-B
(ANALYSIS OF FINANCIAL STATEMENTS)

17 Assuming that Debt-Equity ratio is 2:1, state whether the ratio will improve, decline or will have no change in  case equity share capital is issued for cash 1
18 Classify the following items in to (i) operating (ii) investing (iii) financing activities for finance company







(i) sale of securities (ii) dividend paid to share holder 


1
19 How financial statement is useful for potential investor 



1
20 Net profit of a company was 20%. Its indirect expenses were Rs 80,000 and cash sales was Rs 3,00,000. The credit sales was 80% of the total sales.Calculate the Gross profit ratio of company
     


      3
21
From the following data prepare a comparative income Statement:      4
	particulars
	2008 (Rs)
	2009 (Rs.)

	Sales

Cost of goods sold

Indirect expenses

Income tax
	14,00,000

60% of sales

40% of G.P

50% of N.P
	16,00,000

50% of sales

50% of G.P

50% of N.P


22
calculate (i) current ratio (ii) Acid test ratio (iii) working capital turn over ratio





Rs





Fixed assets



1,00,000




stock




37,200

                debtors



19,200





                          

                  cash




39,600

    4
             


prepaid Exp



10,000





Creditors



36,000





Bank overdraft


17,000



Reserves



10,000





Net sales



31,800

Q22 From the following particulars, calculate cash flow from operating   activities:











Depreciation on building



Rs.55,000



Depreciation on plat



Rs.37,000




Goodwill written off



Rs.14,000




           Loss on sale of investment


Rs.  8,000




             Profit after considering the above on 31st march 2009 was



        Rs. 20,00,000.  The position of current assets and liabilities were

	particulars

[image: image1.png]
stock

Debtors

Cash

Creditors

O/S expenses

Bills payable
	31st mar 08

65,000    

40,000

47,000

94,000

5,000

49,000


	31st mar 09

  69,000

   25,000

   74,000

1,03,000

     3,000

   58,000


Q1
What  is political environment


                                        1
Q2
What is mental revolution






1
Q3  
Why taylor was advocate of differential piece wage system ?

1

Q4
what do mean by budgetary control ?





1

Q5
Name the type of plan in which routine steps are prepared to carry out activities









1

Q6
Why planning is a primary function of management ?


1

Q7.
Under which form of communication it very difficult to detect source of communication








1

Q8
Why non financial incentives are also very important source of motivation









                    1

Q9
Which consumer right gives the business firm freedom to set up their own consumer service and grievance cell ?




          1

Q10
When complaint can be filed by a consumer in national commission ?  1

Q11
Management is a dynamic function . Explain


                    3

Q12
Explain any two objectives of financial planning.
            

3

Q13
Explain any three  importance of capital budgeting.



3

Q14
What is primary market? Explain any two methods of flotation of new issues in the primary market






          3

Q15
Explain the three levels of packaging





3

Q16
Explain any four functions performed by consumer organisation and NGO’s for the protection and promotion of interest of consumer

         4

Q17
Explain any four importance of delegation in an organisation.

Q18
Explain any four advantages of business environment


4

Q19
Mr Naresh id working in top level management . Explain any four fumtions he is likely to perform in that level                                                   

 4

Q20
Explain by giving any four points, how supervision is an important element of directing?









4

Q21
Explain the relationship between planning and controlling.

5

Q22
what do you mean by scientific management? Explain               (1+2+2)



i) Science, not rule of thumb (ii) cooperation, not individualism

Q23
Explain steps in the process of planning.




5

Q24
Explain the SEBI on basis of (a) reasons for establishment (b) objectives











5

Q25
What factors must be kept in mind while fixing the price of commodity ?

Q26
what do you mean by Divisional structure? Explain any two advantages and two limitations .






OR                                                                   6                           










 

Explain the process of organizing

Q27
An employee is not able to communicate properly because of  emotional reasons. Identify the barrier of communication and explain any four causes of such barrier. Suggest two measures to improve communication effectiveness 





OR





          6


What do you mean by motivation? Explain any five importance of motivation.

Q28
Explain the factors kept in mind while planning the capital structure of a company.












OR








6


Explain factors affecting the requirement of fixed capital

Q29
Explain the factors determining choice of a channel on basis of 

(a) product related factors (b) market related factors






OR






6


What do you mean by sales promotion? Explain any four advantages of  sales promotion

Q30
Explain the process of selection in an organisation






OR






6


What is ment by Recruitment? Explain any five sources of external recruitment.
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